N = 0l & AF & F Al A
011HE % 18 LealX HED ~ HED
SN M
o 4ol PR(YBTTHT /LB - WIXY)
Sl NYTHRO NN e (el &2
SH-EH . C(BH) - NRAY - BES 0 Ak o4 [ =)e bRz
HIZ 3 884,435 822,250 62,185
2 48,600 0 48,600
= 46,761 0 46,761
2 789,074 822,250 A33,176
49 PRl(YSBTHH /YT - WIR) 522,195 460,250 61,945
= 46,761 0 46,761
2 475,434 460,250 15, 184
Nl oy 2 439,060 378,509 60,551
= 46,761 0 46,761
2 392,299 378,509 13,790
NYA L Hel4e 2nhE4 311,676 297,886 3,790
201 2ere | 219,990 217,350 2,640
01 ALR eIt 89,850 83,850 1,000
SHEES=1l] 87,120 86, 120 1,000
—HoIAe DXM HE fIsE o 22
d 2 3,000,000 3,000 2,000 1,000
2 222 130, 140 128,500 1,640
ON&RHIS Y] 2,640 1,000 1,640
—OIHBAAEY SXSS FEF 2,640,000 2,640 1,000 1,640
306 13 3,022 0 3,022
01 213 3,022 0 3,022
OXYAl SIS (HYH) 3,022,000 3,022 0 3,022
403 XXM SXHE 0l H 53,264 45,136 8,128
02 ZIIZSOICHEICHE Ar RS 53,264 45,136 8,128
ON2I42 DEa AIAEY SHAA(SBH)
A 16,256,000 16,256 8,128 8,128
NgH+ BHES 13,022 0 13,022
= 13,022 0 13,022
202 01t 3,022 0 13,022
= 13,022 0 13,022
01 =Ufoit] 3,022 0 13,022
OSH SHES ot 13,022,000 13,022 0 13,022
= 13,022 0 13,022
NYN+SH e 20,000 0 20,000
= 20,000 0 20,000
201 2er | 2,050 0 2,050
= 2,050 0 2,050
01 AR eIt 2,050 0 2,050
LIEER-=1 1,000 0 1,000
~XgH HEE S P 1,000,000 1,000 0 1,000
= 1,000 0 1,000
OEE 1,050 0 1,050




SN HIED
BB 4ol pO|(LYDDHI/NYHT - HIXE)
=
X

[s=)
ool UYMW Q™A &

SNBSS - HRAY - BHES 0 & o4 7| & o HIRZE2
—S2(AZAZ LX) HAH] 1,050,000 1,050 0 1,050
= 1,050 0 1,050
303 TAS 12,500 0 12,500
= 12,500 0 12,500
01 Zar3 12,500 0 12,500
OHMSZR8 MYAR 12,500,000 12,500 0 12,500
= 12,500 0 12,500
401 Al HIL2OHY] 450 0 450
= 450 0 450
01 A& 450 0 450
ool oIS &x| 450,000 450 0 450
= 450 0 450
405 THaHE S| 5,000 0 5,000
= 5,000 0 5,000
01 HAYLSEHSH| 5,000 0 5,000
OMa 2 oRt7AY 1,600,000 1,600 0 1,600
3 1,600 0 1,600
Oz 300,000 300 0 300
= 300 0 300
OCIXIEItH et 7Y 500,000 500 0 500
= 500 0 500
OnXAEZE DeH7Y 600,000 600 0 600
= 600 0 600
OeBE ZX =28 2,000,000 2,000 0 2,000
= 2,000 0 2,000
SHMYY BB S| 13,739 0 13,739
= 13,739 0 13,739
201 Lete gl 6,939 0 6,939
= 6,939 0 6,939
01 At el 6,939 0 6,939
On =l 200,000 * 19% 3,800 0 3,800
= 3,800 0 3,800
Ozl 2,000,000 2,000 0 2,000
= 2,000 0 2,000
OJIZAREETY 1,139,000 1,139 0 1,139
= 1,139 0 1,139
202 01t 6,000 0 6,000
= 6,000 0 6,000
01 =01 6,000 0 6,000
ODAUDHM L =2 6,000,000 6,000 0 6,000
= 6,000 0 6,000
405 XtobE S| 800 0 800
= 800 0 800
01 HAYLSEHSH| 800 0 800




CONE D

DAY RO(UBIBTHT /N LY

o o
CASMAL tEN A

HEXIH)

SNBSS - MBAY - BES arey pJE-T s
oddgiore + 400,000 400 0 400
= 400 0 400
OUXE Jtdller 7 400,000 400 0 400
S 400 0 400
GANTE Bot 2 XA 83,135 81,741 1,394
TEIOIFA AL 83,135 81,741 1,394
101 1A 24,152 22,758 1,394
04 JIZHMIZ2XNHSE =+ 24,152 22,758 1,394
OINEFEIA A 24,152 22,758 1,394
— QA 2 & 23,380,000 23,380 22,246 1,134
—NEMNEESE Z& 772,000 772 512 260
HWeas(MEn) (dets3d8E /A -HEXRE) 291,240 291,000 240
= 48,600 0 48,600
7 i 242,640 291,000 A48,360
28X&E 291,240 291,000 240
= 48,600 0 48,600
= 242,640 291,000 48,360
28X = 291,240 291,000 240
= 48,600 0 48,600
= 242,640 291,000 A48,360
311 XY SO0l XH&e 291,000 291,000 0
= 48,600 0 48,600
= 242,400 291,000 A48,600
04 SLHRXNLS0IX&S 291,000 291,000 0

OB322NS(NLNRHNBTHER)

291,000,000 291,000 291,000 0
= 48,600 0 48,600
= 242,400 291,000 48,600
802 Bret=JIEt 240 0 240
02 Al - SHIEXSEtE S 240 0 240
OHMEA d+=2=Hl 240,000 240 0 240




